

Journal of Global Optimization **28:** 339–346, 2004. © 2004 Kluwer Academic Publishers. Printed in the Netherlands.

# Topics on Variational Analysis and Applications to Equilibrium Problems

GIOVANNA IDONE<sup>1</sup>, ANTONINO MAUGERI<sup>2</sup> and CARMELA VITANZA<sup>3</sup>

<sup>1</sup>D.I.M.E.T., Università di Reggio Calabria, Via Graziella, Loc. Feo di Vito, 89100 Reggio, Calabria, Italia e-mail: idone@ing.unirc.it) <sup>2</sup>Dipartimento di Matematica e Informatica, Università di Ca tania, Viale A. Doria, 6 - 95125, Catania, Italia (e-mail: maugeri@dmi.unict.it) <sup>3</sup>Dipartimento di Matematica, Università di Messina, Contrada Papardo, Salita sperone - 98100 Messina, Italia (e-mail: vitanzac@unime.it)

(Received and accepted 12 March 2003)

**Abstract.** We observe how many equilibrium problems obey a generalized complementarity condition, which in general leads to a variational inequality. We illustrate this fact, by studying the elastic-plastic torsion problem and finding the related Lagrange multipliers.

**Key words:** Complementary conditions, Elastic–plastic torsion problem, Equilibrium problems, Lagrangean theory, Quasi–relative interior, Variational inequalities

### 1. Introduction: What does Optimality means?

The study of many equilibrium problems (The Obstacle Problem, the discrete traffic equilibrium problem, the continuous traffic equilibrium problem, the spatial price equilibrium problem, the migration problem, the Walras problem, etc. (see [8], [9], [14])) has contributed to focus the fact that the equilibrium conditions obey a form of generalized complementarity conditions whose meaning is that when one of the factors is greater than zero, the other one must be zero.

Then one obtains the remarkable fact that different problems in different context obey a unique law, which, in general, is far to correspond to the usual "obedience" to be the minimum of a functional.

An open problem remains to see: how this set of generalized complementarity conditions can be successfully treated? However, until now, each of the problems above mentioned can be transformed in a Variational Inequality on a convex subset  $\mathbb{K}$  of a suitable functional space, for which we have an impressive quantity of results in terms of existence, calculation of the solutions, stability and sensitivity analysis.

Now the aim of this paper is to show how the possibility of transforming the complementarity conditions in terms of Variational Inequality also happens for the "Elastic-Plastic Torsion Problem". The Lagrangean theory in the infinite dimen-

sional case plays an extraordinary role in order to obtain the proof of the above claims.

In the infinite dimensional context, following the suggestions of Borwein-Lewis (see [1]), the introduction of a generalized Slater condition, that replaces the usual one in the finite dimensional case, solves the delicate problem to have some kind of "interior" of a set non-empty.

### 2. The Elastic-Plastic torsion model

We can say that the elastic–plastic torsion problem can be described in the following way (Von Mises, 1949, as reported by Ting see [15]):

Find a function u(x) which vanishes on  $\partial \Omega$  and, together with its first derivatives, is continuous in  $\Omega$ . The gradient of u must not have an absolute value greater than a given constant k on  $\overline{\Omega}$ . Whenever the absolute value of  $\nabla u$  is smaller than k, the function u must satisfy the differential equation

 $\Delta u = -2\mu \vartheta$ ,

where the positive constants  $\mu$  and  $\vartheta$  denote the shearing modulus and the angle of twist per unit length, respectively.

# **3.** Variational Inequality Formulation of the Elastic-Plastic Torsion Problem

Let  $\Omega$  be an open bounded Lipschitz domain with its boundary  $\partial \Omega$ . Let  $\mathbb{K}$  be the closed convex non empty subset of  $H_0^1(\Omega)$ :

$$\mathbb{K} = \left\{ v \in H_0^1(\Omega) : v \ge 0, \sum_{i=1}^n \left( \frac{\partial u}{\partial x_i} \right)^2 \le 1 \text{ a.e. in } \Omega \right\}.$$
 (1)

Let a(u, v) be the bilinear form:

$$a(u,v) = \int_{\Omega} \left\{ \sum_{i,j=1}^{n} a_{ij}(x) \frac{\partial u}{\partial x_i} \frac{\partial v}{\partial x_j} + \sum_{i=1}^{n} b_i \frac{\partial u}{\partial x_i} v + \sum_{i=1}^{n} c_i u \frac{\partial v}{\partial x_i} + duv + a_0 uv \right\} dx$$
(2)

with

$$a_{ij} \in L^{\infty}(\Omega), b_i \in L^n(\Omega), c_i \in L^n(\Omega) \quad \text{if } n > 2$$
  

$$b_i, c_i \in L^{2+\varepsilon}(\Omega), \varepsilon > 0 \quad \text{if } n = 2$$
  

$$d \in L^{n+2}(\Omega) \quad \text{if } n > 2, d \in L^{2+\varepsilon}(\Omega), \varepsilon > 0 \quad \text{if } n > 2$$
  

$$\sum_{ij=1}^n a_{ij}\xi_i\xi_j \ge \overline{\nu}\sum_{i=1}^n \xi_i^2 \quad \forall \xi \in \mathbb{R}^n,$$
  

$$a_i \ge 0 \quad \text{constant such that } a(u, u) \ge u \|u\|^2 \qquad u \ge 0$$
(3)

 $a_0 > 0$  constant such that  $a(u, u) \ge \nu \|u\|_{H_0^1(\Omega)}^2$ ,  $\nu > 0$ .

340

Then, for each  $f \in L^2(\Omega)$ , the Variational Inequality:

"Find 
$$u \in \mathbb{K}$$
 such that  $a(u, v-u) \ge \int_{\Omega} f(v-u) dx \quad \forall v \in \mathbb{K}$ " (4)

admits a unique solution. Moreover, under additional assumptions on the coefficients  $a_{ij}$ , e.g.,  $a_{ij} \in C^1(\overline{\Omega})$  and on  $b_i$ ,  $c_i$ , d, e.g.,  $b_i$ ,  $c_i$ ,  $d \in L^{\infty}(\Omega)$ , it is possible to show that, if  $f(x) \in L^p(\Omega)$ ,  $p \ge 2$ , the solution u to the Variational Inequality (4) belongs to  $W^{2,p}(\Omega)$  and that, denoting by  $\mathcal{L}u$  the operator such that

$$\langle \mathcal{L}u, v \rangle = a(u, v) - \int_{\Omega} f(x)v(x)dx, \qquad (5)$$

it results:

$$\mathcal{L}u \in L^p(\Omega)$$

(see [2]).

Then we can prove the following theorem.

THEOREM 1. Let *u* be the solution to the Variational Inequality (4). Then there exist  $\overline{\mu}$ ,  $\overline{\lambda} \in L^2(\Omega)$  such that a. e. in  $\Omega$ 

$$\overline{\mu}(x)u(x) = 0, \quad \overline{\lambda}(x) \left( 1 - \sum_{i=1}^{n} \left( \frac{\partial u(x)}{\partial x_i} \right)^2 \right) = 0,$$
$$\mathcal{L}u(x) - \overline{\mu}(x) = 2 \sum_{i=1}^{n} \frac{\partial}{\partial x_i} \left( \overline{\lambda}(x) \frac{\partial u(x)}{\partial x_i} \right).$$

Moreover, it results:

$$\begin{cases} (\mathcal{L}u(x) - \overline{\mu}(x)) \left( 1 - \sum_{i=1}^{n} \left( \frac{\partial u(x)}{\partial x_{i}} \right)^{2} \right) = 0 \\ u(x) \ge 0 \\ 1 - \sum_{i=1}^{n} \left( \frac{\partial u(x)}{\partial x_{i}} \right)^{2} \ge 0. \end{cases}$$

The above result can be compared with the results by [14] and [13], whereas equivalence results with respect to the Variational Inequality depending on  $\delta(x) = d(x, \partial \Omega)$  can be found in [4, 6, 7, 10–12].

# 4. Proof of theorems

Let u be the unique solution to the Variational Inequality (4) and let us consider the Lagrangean function:

$$\mathcal{L}(v,\mu,\lambda) = \psi(v) - \int_{\Omega} \mu(x)v(x)dx - \int_{\Omega} \lambda(x) \left(1 - \sum_{i=1}^{n} \left(\frac{\partial u(x)}{\partial x_{i}}\right)^{2}\right) dx \qquad (6)$$

where

$$\psi(v) = \langle \mathcal{L}u, v - u \rangle \quad v \in H_0^1(\Omega),$$
  
$$(\mu, \lambda) \in \mathcal{C}^* = \left\{ (\mu, \lambda) : \mu \in L^2(\Omega), \lambda \in L^2(\Omega), \mu(x), \lambda(x) \ge 0 \text{ a. e. in } \Omega \right\}.$$
(7)

Now let us observe that the set:

$$C = \{ v \in L^{p}(\Omega) : v(x) \ge 0 \text{ a. e. in } \Omega \}$$

has an empty interior; so that the Slater constraint qualification cannot be applied.

Following a suggestion by Borwein–Lewis (see [1]), it is possible to overcome this difficulty replacing the Slater qualification condition by generalizing the notion of relative interior as follows:

DEFINITION 1. The quasi relative interior of a convex set C, which we denote by qri C, is the set of those x for which

$$Cl Cone (C-x) \tag{8}$$

is a subspace.

We have:

Cone 
$$(C-x) = \{\lambda y : \lambda \ge 0, y \in C-x\}$$

and if C is starshaped with respect to x, it results

T(C, x) = Cl Cone(C - x).

Then the generalized condition is

qri  $C \neq \emptyset$  (9)

and it results

qri 
$$\mathcal{C}^* = \{ (\lambda, \mu) \in L^2(\Omega) : \lambda(x) > 0, \mu(x) > 0 \},$$
  
qri  $\mathbb{K} \neq \emptyset.$ 

Then the usual Lagrangean theory can be applied and we obtain this lemma (see for instance [6]):

#### 342

LEMMA 1. There exists  $(\overline{\mu}, \overline{\lambda}) \in C^*$  such that

$$\mathcal{L}(u,\mu,\lambda) \leqslant \mathcal{L}(u,\overline{\mu},\overline{\lambda}) \quad \forall v \in H_0^1(\Omega)$$
(10)

$$\mathcal{L}(v,\overline{\mu},\overline{\lambda}) \geqslant \mathcal{L}(u,\overline{\mu},\overline{\lambda}) \quad \forall (\lambda,\mu) \in \mathcal{C}^*$$
(11)

and  $\mathcal{L}(u,\overline{\mu},\overline{\lambda})=0$ , *i. e.* 

$$\psi(u) = 0, \int_{\Omega} u(x)\overline{\mu}(x)dx = 0, \int_{\Omega} \overline{\lambda}(x) \left(1 - \sum_{i=1}^{n} \left(\frac{\partial u(x)}{\partial x_{i}}\right)^{2}\right) dx = 0.$$

Being

$$1 - \sum_{i=1}^{n} \left(\frac{\partial u(x)}{\partial x_{i}}\right)^{2} \ge 0.$$
  
$$\overline{\mu}(x) \ge 0, \quad \overline{\lambda}(x) \ge 0, \quad u(x) \ge 0,$$

we derive

$$\overline{\mu}(x)u(x) = 0 \text{ a.e. in } \Omega, \tag{12}$$

$$\overline{\lambda}(x) \left( 1 - \sum_{i=1}^{n} \left( \frac{\partial u(x)}{\partial x_i} \right)^2 \right) = 0 \text{ a.e. in } \Omega$$
(13)

i.e. 
$$\overline{\lambda}(x) = \overline{\lambda}(x) \sum_{i=1}^{n} \left(\frac{\partial u(x)}{\partial x_i}\right)^2$$
 a.e. in  $\Omega$ . (14)

From (11), (12) and (14) we get

$$\mathcal{L}(v,\overline{\mu},\overline{\lambda}) = \langle \mathcal{L}u, v-u \rangle - \int_{\Omega} \overline{\mu}(x)(v(x) - u(x)) dx$$
$$- \int_{\Omega} \sum_{i=1}^{n} \overline{\lambda}(x) \left[ \left( \frac{\partial u(x)}{\partial x_{i}} \right)^{2} - \left( \frac{\partial v(x)}{\partial x_{i}} \right)^{2} \right] dx$$
$$= \langle \mathcal{L}u, v-u \rangle - \int_{\Omega} \overline{\mu}(x)(v(x) - u(x)) dx$$
$$- \int_{\Omega} \sum_{i=1}^{n} \overline{\lambda}(x) \left( \frac{\partial u(x)}{\partial x_{i}} - \frac{\partial v(x)}{\partial x_{i}} \right) \left( \frac{\partial u(x)}{\partial x_{i}} + \frac{\partial v(x)}{\partial x_{i}} \right) dx$$
$$= \langle \mathcal{L}u, v-u \rangle - \int_{\Omega} \overline{\mu}(x)(v(x) - u(x)) dx$$

$$-\left\langle\sum_{i=1}^{n}\frac{\partial}{\partial x_{i}}\left(\overline{\lambda}\frac{\partial u}{\partial x_{i}}\right), v-u\right\rangle-\left\langle\sum_{i=1}^{n}\frac{\partial}{\partial x_{i}}\left(\overline{\lambda}\frac{\partial v}{\partial x_{i}}\right), v-u\right\rangle \ge 0$$
  
$$\forall v \in H_{0}^{1}(\Omega).$$
(15)

Choosing  $v = u \pm \psi \ \forall \psi \in H_0^1(\Omega)$ , we get

$$\langle \mathcal{L}u,\psi\rangle - \langle \overline{\mu},\psi\rangle - 2\left\langle \sum_{i=1}^{n} \frac{\partial}{\partial x_{i}} \left(\overline{\lambda}\frac{\partial u}{\partial x_{i}}\right),\psi\right\rangle - \left\langle \sum_{i=1}^{n} \frac{\partial}{\partial x_{i}} \left(\overline{\lambda}\frac{\partial \psi}{\partial x_{i}}\right),\psi\right\rangle \geqslant 0$$

and

$$\langle \mathcal{L}u,\psi\rangle - \langle \overline{\mu},\psi\rangle - 2\left\langle \sum_{i=1}^{n} \frac{\partial}{\partial x_{i}} \left(\overline{\lambda} \frac{\partial u}{\partial x_{i}}\right),\psi \right\rangle + \left\langle \sum_{i=1}^{n} \frac{\partial}{\partial x_{i}} \left(\overline{\lambda} \frac{\partial \psi}{\partial x_{i}}\right),\psi \right\rangle \leqslant 0.$$

Then considering the test functions  $\varepsilon \psi$ ,  $\varepsilon > 0$  in both the inequalities and letting  $\varepsilon$  tend to zero, we get

$$\left\langle \mathcal{L}u - \overline{\mu} - 2\sum_{i=1}^{n} \frac{\partial}{\partial x_{i}} \left( \overline{\lambda} \frac{\partial u}{\partial x_{i}} \right), \psi \right\rangle \ge 0 \quad \forall \psi \in H_{0}^{1}(\Omega)$$
$$\left\langle \mathcal{L}u - \overline{\mu} - 2\sum_{i=1}^{n} \frac{\partial}{\partial x_{i}} \left( \overline{\lambda} \frac{\partial u}{\partial x_{i}} \right), \psi \right\rangle \le 0 \quad \forall \psi \in H_{0}^{1}(\Omega)$$

and hence

$$\mathcal{L}u(x) - \overline{\mu}(x) - 2\sum_{i=1}^{n} \frac{\partial}{\partial x_i} \left( \overline{\lambda}(x) \frac{\partial u(x)}{\partial x_i} \right) = 0 \text{ a.e. in } \Omega.$$
(16)

Then the first part of theorem is proved (note that the term  $\sum_{i=1}^{n} \frac{\partial}{\partial x_i} \left( \overline{\lambda} \frac{\partial u}{\partial x_i} \right)$  belongs to  $L^2(\Omega)$ ).

Now if we consider  $x \in E$  where

$$E = \left\{ x \in \Omega : \sum_{i=1}^{n} \left( \frac{\partial u}{\partial x_i} \right)^2 < 1 \right\},\$$

from (13) we deduce, taking into account (16)

$$\mathcal{L}u(x) - \overline{\mu}(x) = 0. \tag{17}$$

On the other hand, if  $\mathcal{L}u(x) - \overline{\mu}(x) \neq 0$ , also

$$2\sum_{i=1}^{n} \frac{\partial}{\partial x_{i}} \left( \overline{\lambda}(x) \frac{\partial u(x)}{\partial x_{i}} \right) \neq 0$$

344

and  $\overline{\lambda}(x)$  cannot be zero; hence in the same region it must be

$$x \in P = \left\{ x \in \Omega : \sum_{i=1}^{n} \left( \frac{\partial u(x)}{\partial x_i} \right)^2 = 1 \right\}$$

and we find that if u is the solution to the Variational Inequality (4), it results a.e. in  $\Omega$ :

$$\begin{cases} (\mathcal{L}u(x) - \overline{\mu}(x)) \left( 1 - \sum_{i=1}^{n} \left( \frac{\partial u(x)}{\partial x_{i}} \right)^{2} \right) = 0 \\ u(x) \ge 0 \\ 1 - \sum_{i=1}^{n} \left( \frac{\partial u(x)}{\partial x_{i}} \right)^{2} \ge 1. \end{cases}$$

REMARK 1. It is easy to show that if  $u \in \mathbb{K}$  and there exist  $\overline{\lambda}$  and  $\overline{\mu}$  as in theorem 1, then *u* verifies Variational Inequality (4).

## References

- 1. Borwein, J.M. and Lewis, A.S. (1989), Practical conditions for Fenchel duality in Infinite Dimensions, *Pitman Research Notes in Mathematics Series* 252, 83–89.
- Brezis, H. and Stampacchia, G. (1968), Sur la regularité de la solution d'inéquations elliptiques, Bull. Soc. Math. Fr. 96, 153–180.
- 3. Brezis, H. and Sibony, M. (1971), Equivalence de Deux Inèquations Variationnelles et Applications, *Arch. Rational Mech. Anal.* 41, 254–265.
- Brezis, H. (1972), Multiplicateur de Lagrange en Torsion Elastic–Plastic, Arch. Rational Mech. Anal. 49, 32–40.
- Chiadò-Piat, V. and Percivale, D. (1994), Generalized Lagrange multipliers in elastoplastic torsion, *Journal of Differential Equations* 114, 570–579.
- 6. Daniele, P. (1999), Lagrangean function for dynamic variational inequalities, *Rendiconti del Circolo Matematico di Palermo* Serie II 58, 101–119.
- Daniele, P., Maugeri, A. and Oettli, W. (1999), Time-dependent traffic equilibria, J. Opt. Theory Appl., 103, 543–555.
- 8. Giannessi, F., Maugeri, A. and Pardalos, P. (2001), *Equilibrium Problems: Nonsmooth Optimization and Variational Inequality Models*, Kluwer Academic Publishers, Dordrecht.
- 9. Idone, G., Maugeri, A. and Vitanza, C., Variational Inequalities and the Elastic-Plastic Torsion Problem, *J. Opt. Theory Appl.*, to appear.
- 10. Idone, G. and Maugeri, A., Equilibrium problems. In: Qi, Teo and Yang (eds.), *Optimization and Control with Applications*, Kluwer Academic Publishers, Dordrecht, to appear.
- Idone, G., Maugeri, A. and Vitanza, C. (2002), Equilibrium problems in elastic-plastic torsion. In: Brebbia C.A., Tadeu A., Popov V. (eds.) (Boundary Elements 24th, WIT Press, Southampton, Boston, pp. 611–616.
- 12. Idone, G. (2002), Variational inequalities and applications to a continuum model of transportation network with capacity constraints, *Journal of Global Optimization*, to appear.
- Lanchon, H.(1969), Solution du Probléme de Torsion Èlastoplatique d'une Barre Cylindrique du Section Quelunque, C. R. Acad. Sci. Paris 269, 791–794.

- 14. Nagurney, A. (1993), *Network Economics A Variational Inequality Approach*, Kluwer Academic Publishers, Dordrecht.
- 15. Ting, T.W. (1969), Elastic–Plastic Torsion Problem, Arch. Rational Mechanics Anal. 34, 228–244.